

Mathematik 8		
Bruchgleichungen	Lösungen	S. 124 / 3

### S. 124 / 3

a) 
$$\frac{12}{x} = \frac{6}{x-2} \quad | \cdot x \cdot (x-2)$$

$$\frac{12 \cdot x \cdot (x-2)}{x} = \frac{6 \cdot x \cdot (x-2)}{x-2}$$

$$12(x-2) = 6x$$

$$12x - 24 = 6x \quad | -6x + 24$$

$$6x = 24 \quad | :6$$

$$x = 4$$

c) 
$$\frac{x+8}{3x+3} + \frac{x+2}{2x+2} = 1$$

Bestimmung des Hauptnenners:  $3x+3 = 3(x+1)$

$$2x+2 = 2(x+1)$$

$$\text{HN} = 2 \cdot 3 \cdot (x+1)$$

$$\frac{x+8}{3x+3} + \frac{x+2}{2x+2} = 1 \quad | \cdot 2 \cdot 3 \cdot (x+1)$$

$$\frac{(x+8) \cdot 2 \cdot 3 \cdot (x+1)}{3x+3} + \frac{(x+2) \cdot 2 \cdot 3 \cdot (x+1)}{2x+2} = 1 \cdot 2 \cdot 3 \cdot (x+1)$$

$$(x+8) \cdot 2 + (x+2) \cdot 3 = 6 \cdot (x+1)$$

$$2x+16+3x+6 = 6x+6$$

$$5x+22 = 6x+6 \quad | -5x-6$$

$$16 = x$$

e) 
$$\frac{1}{x-1} - \frac{2}{x^2} = \frac{1}{x}$$

$$\text{HN} = x^2 \cdot (x-1)$$

$$\frac{1}{x-1} - \frac{2}{x^2} = \frac{1}{x} \quad | \cdot x^2 \cdot (x-1)$$

$$\frac{1 \cdot x^2 \cdot (x-1)}{x-1} - \frac{2 \cdot x^2 \cdot (x-1)}{x^2} = \frac{1 \cdot x^2 \cdot (x-1)}{x}$$

$$x^2 - 2 \cdot (x-1) = x \cdot (x-1)$$

$$x^2 - 2x + 2 = x^2 - x \quad | -x^2 + 2x$$

$$2 = x$$